





@ OpHoKpaTHLIN y3en counbTpa LPG n CNG rasosoi dasbl, 3aXKMMaHHbIN C
OQHON CTOPOHDI.

ZzDisposable LPG and CNG dry gas filter unit, one side clenched.

= D=1,f" D=1I?_ D=1f D=1,§ O6uas agnuHa unstpa ~ 82 Mm.
> ) ||-[l ) ’ {|.L ) \ Hl ) ) {|.[“ Overall length of filter ~ 82 mm.
D=11 v

“[ @ Yzen dunstpa LPG 1 CNG ¢

w =7 P naTpoHOM M3 Matepuana dynbnpeH
D=12 v (BULPREN). BynbnpeH kpomMe pasaernku
IH nbinen abcopbupyet Takke
> aBToOMOOUNbLHOE Macro /napaduH.
D=14 v _ o
% LPG and CNG filter unit with
\ ’” ) BULPREN filter cartridge. Bulpren is
B=1 ; separating dust as any other filtration
o material but additionally absorbs
1l oil/paraffin.
1 o)
Bepcum BryckoB 1 BbINyckoB MaTpoH ByMakHbIi MaTpoH NONUACTPOBbIN (C CETKO)
Inlet and outlet versions Paper filter cartridge Polyester filter cartridge

(with wire mesh)

MaTpoH 13 BynbnpeHa (z bulprenu) MaTpOH 13 CTEKMNOBONIOKHA MarpoH nonnacTpoBeiii (6es ceTkm)
Bulpren filter cartridge Fiber glass filter cartridge Polyester filter cartridge
(without wire mesh)

GKnacc 2. NInTtepBan pabo4ynx Temneparyp: ot -40°C go 120°C. KnaccudukaunoHHoe aaBneHue:
450 kPa. lNmonorauus: E20-67R-011006, E20-110R-000047

Mpwn rmpgponasneHnn pasHom 1015 kPa He yCTaHOBMEHO HUKAKMX HENJTOTHOCTEN HU gedhopmaLmii.

%Class 2. Work temp. range from -40°C to 120°C. Classification pressure 450 kPa.
Approvals: E20-67R-011006, E20-110R-000047

In the work pressure equals 1015 kPa no deformations and untightness effects.

Bulpren PATENT No.:P.397186 Certools




@ OpHoKpaTHLIN y3en counbTpa LPG n CNG rasosoi dasbl, 3aXKMMaHHbIN C
OQHOMN CTOPOHDI.
Z#Disposable LPG and CNG dry gas filter unit, one side clenched.

i 3|D=11 D=12 D=14 D=16 D=2x11 |D=2x12 |D=3x8 |D=4x8
Yy i £ & i " e
P | dib | ik ll; |I7 il ik
> “ “.l?i w | I.‘:—ﬁ hJ!l"ﬁ d ﬁ."’% d d ;,.' "ﬁ J,'i llil
D=11
\nT“.l.ﬁ A v v
D=12
b [~ 1 S —
D=14
Jl, v v v v v v v
" v v v v v v v
D=16
‘;’ﬁl‘. v v v v v v v v
" v v v v v v v v

Bepcuu BnyckoB v BbiNyCKOB
Inlet and outlet versions

GKnacc 2. NnTtepsan paboynx Temnepatyp: ot -40°C go 120°C. KnaccudpukaumoHHoe AaBneHune:
450 kPa. Nlomonoraumsa: E20-67R-010906, E20-110R-000030.
Mpn rmgponasnexHnn pasHom 1015 kPa He ycTaHOBEHO HUKAKMX HENIOTHOCTEN HU Aedhopmauunii.

[TaTpoH NonMacTpoBbIN (C CETKOM)
Polyester filter cartridge
(with wire mesh)

MaTpoH 13 CTEKIOBOMNOKHA MaTtpoH nonunactposbI (6e3 ceTkn)

Fiber glass filter cartridge Polyester filter cartridge
(without wire mesh)

%Class 2. Work temp. range from -40°C to 120°C. Classification pressure 450 kPa .
Approvals: E20-67R-010906, E20-110R-000030.
In the work pressure equals 1015 kPa no deformations and untightness effects.

Bulpren PATENT No.:P.397186 Certools



O6wasa gnuHa unstpa ~ 98 MMm.
Overall length of filter ~ 98 mm.

@ C naTtpoHom 13 matepuana 6ynbnpeH
(BULPREN)

<& With BULPREN filter cartridge

@ C natpoHom cunstpa CF-106
(bymara)

& With filter cartridge CF-106 (paper)

@ C natpoHom cunstpa CF-106-1
(monmnacTtep ¢ ceTkomn)

& With filter cartridge CF-106-1
(polyester with wire mesh)

@ C narpoHom cunbtpa CF-106-2
(CTEKNOBOSIOKHO C CETKOWN)

& With filter cartridge CF-106-2
(fiber glass with wire mesh)

@ C natpoHom cunbtpa CF-106-3
(nonmnacTep 6e3 ceTkn)

& With filter cartridge CF-106-3
(polyester without wire mesh)

Bulpren PATENT No.:P.397186

Certools



@ OaHokpaTHbIN y3en dunstpa LPG n CNG rasosoii dha3bl, 3aKUMaHHbIN C
ABYX CTOPOH.
s Disposable LPG and CNG dry gas filter unit, both sides clenched.

Bepcuu BnyckoB 1 [TaTpoH NOnMacTPOBLIN (C CETKON)
BbINYCKOB Polyester filter cartridge
Inlet and outlet versions (with wire mesh)

MaTPOH U3 CTEKMNOBONIOKHA MaTpoH NonMacTpoBEIN (6e3 ceTkm)

Fiber glass filter cartridge Polyester filter cartridge
(without wire mesh)

. 5|D=11 D=12 D=14 D=16 D=2x11 |D=2x12 |[D=3x8 |D=4x8
ul P e oy o I R ‘ AN
o > 1= g ||y il L (id| 1Ll
>t w hll. i \%Dﬂ; 7 n,lli.v ulii \»ln.l.”'t \1”-”’3 jj[l"ﬂ“* d Lllllf
D=11
7 v 7 v
[ v v v v
L v v 7 7
D=12
v v v 7 7 7
Al ,' v v v v v v
L v v 7 7 7 7

D=14
,-‘H'
- “l 9
D=16

oL

i

]
D=2x11

e
D=2x12

2w

\AR
NN
NN
NN
NN
\AB
\AB

Y
\AB
\AB
\AB
Y Y
\SB
N
NS

\\B

@ Knacc 2. MHTepBan paBounx Temnepatyp: oT -40°C o 120°C (LPG), ot -40°C po 105°C (CNG).
KnaccudumkauynonHoe gasnexne 450 kPa (LPG), 20-450 kPa (CNG).
CeptundomkaTtsl romorioHauumn: E20-67R-010663, E20-110R-000031.

&% Class 2. Work temp. range from -40°C to 120°C (LPG), -40°C to 105°C (CNG).
Classification pressure 450 kPa (LPG), 20-450 kPa (CNG).
Approvals: E20-67R-010663, E20-110R-000031.

-4- Certools




F-779-C ~ 99 mm,

F-779-C-d ~ 122 mm.

Overall length of filter
F-779-C ~ 99 mm,

F-779-C-d ~ 122 mm.

®@C natpoHom ¢unstpa CF-
106 (bymara)

@D With filter cartridge CF-106
(paper)

®C natpoHom unisTpa CF-
106-1 (monmacTep ¢ CETKON)

B With filter cartridge CF-
106-1 (polyester with wire
mesh)

®@C natpoHom dunistpa CF-
106-2 (cTeknI0BOMNOKHO C CETKOW)

D With filter cartridge CF-106-
2 (fiber glass with wire mesh)

®@C natpoHom dunstpa CF-
106-3 (nonuactep 6e3 ceTkm)

P With filter cartridge CF-
106-3 ( polyester without wire
mesh)

O6wasa anvHa dunsTpa

®@C natpoHoMm dunstpa CF-
109 (bymara)

P With filter cartridge CF-109
(paper)

®@C natpoHom unistpa CF-
109-1 (nonuactep ¢ CETKON)

& With filter cartridge CF-
109-1 (polyester with wire
mesh)

®@C narpoHom cunstpa CF-
109-2 (cTeknoBoONoOKHO C CETKOIA)

P With filter cartridge CF-109-
2 (fiber glass with wire mesh)

®@C natpoHom dunstpa CF-
109-3 (nonunactep 6e3 ceTkm)

& With filter cartridge CF-

109-3 ( polyester without wire
mesh)

Certools



http://
http://
http://
http://
http://
http://

@ MHorokpaTHbI y3en dunstpa LPG 1 CNG rasosoi gasbl . 3aKUMaHHbIN C
OLHOW CTOPOHbI, 3aKPbITbIN CTOMOPHbLIM KOJSTbLIOM C LPYrou

& LPG and CNG dry gas filter set with exchangeable filter cartridge. One side
clenched, second side closed by Seger ring.

Bepcuu BnyckoB u MaTpoH GymakHbI [MaTpoH NONMaCcTPOBLIN (C CETKON)
BbIMYCKOB Paper filter cartridge Polyester filter cartridge
Inlet and outlet versions (with wire mesh)

MaTpOH W3 CTEKMOBOMOKHA MatpoH NonuacTpoBbIn (6e3 ceTkn)
Fiber glass filter cartridge Polyester filter cartridge
(without wire mesh)

.3 /D=11 D=12 D=14 D=16 D=2x11 |[D=2x12 |D=3x8 [D=4x8
- | | iy | 1 11 71
X el | el | el |l | ath | alh |l |
D=11 7 v v v
v v v v
1l v v v v
5 o v v v v
D=12 7 7 v v v v
p v v v v 7 v
Il v v v v v v
L v v v v v v
D=14 v v v v v v v
v v v v v v v
Il v v v v v v v
- e’ v v v v~ v~ v v
D=16 N v v v v v v v
v v v v v v v v
| v v v v v v v v
- v v v v v v v v
D=2x11 v
" '.1[ v
(I Y
Q=7 v
D=2x12 v
0 f /
il v
any v

@ Knacc 2. MuTepsan pabounx Temnepatyp: oT -40°C go 120°C (LPG), ot -40°C go 105°C (CNG).
KnaccudgukauymoHHoe gaesnenune 450 kPa (LPG), 20-450 kPa (CNG).
Ceptudomkatbl romonoHauun: E20-67R-010663, E20-110R-000031.

& Class 2. Work temp. range from -40°C to 120°C (LPG), -40°C to 105°C (CNG).
Classification pressure 450 kPa (LPG), 20-450 kPa (CNG).
Approvals: E20-67R-010663, E20-110R-000031.

-6- Certools




O6wasa anvHa dunstpa
F-779-B ~ 99 mm,
F-779-B-d ~ 122 mwm.

Overall length of filter
F-779-B ~ 99 mm,
F-779-B-d ~ 122 mm.

)

-
b

l

®@C natpoHom dunistpa CF-
106 (6ymara)

@D With filter cartridge CF-106
(paper)

®@C natpoHom dunstpa CF-
106-1 (nonuactep ¢ ceTkon)

@D Wwith filter cartridge CF-
106-1 (polyester with wire
mesh)

@C natpoHom dunistpa CF-
106-2 (cTekI10BOMOKHO C CETKOM)

B With filter cartridge CF-106-
2 (fiber glass with wire mesh)

®C nartpoHom cunsrpa CF-
106-3 (monuactep 6e3 ceTkm)

B With filter cartridge CF-
106-3 ( polyester without wire
mesh)

®@C natpoHom cunsTpa CF-
109 (bymara)

P With filter cartridge CF-109
(paper)

®@C natpoHom ¢unestpa CF-
109-1 (monunacTep ¢ CETKON)

B With filter cartridge CF-
109-1 (polyester with wire
mesh)

®@C natpoHom cpunsTpa CF-
109-2 (cTeKI0BOMNOKHO C CETKOIA)

P With filter cartridge CF-109-
2 (fiber glass with wire mesh)

®@C natpoHom unisTpa CF-
109-3 (nonuactep 6e3 ceTkn)

& With filter cartridge CF-
109-3 ( polyester without wire
mesh)

Certools


http://

oS
SR oAk
ma.mu:ﬁﬂ !
WS =
. cortools-?!

i

@ PUNLTPbI M3 CNeYEHHOM
O6poH3bI: F-704-A gna

aBTOMOOUIILHOW YCTaHOBKMU
NPOMBbILLNEHHbIX

yCTpoMcTBax

<% LPG high pressure filters
(sintered bronze cartridge):
F-704-A for autogas systems _

and F-704-S for industry woTeIe)
applications.

CERTOOLS®

I |

@ Knacc 1. DunbTp BLICOKOrO AaBneHNst ANs ycTaHoBKM LPG. AMOMUHMEBBIN KOPNYC, C OBMEHHBIM 1
OLHOBPEMEHHO NPUrogHbIM AS151 O4UCTKM MHOTOKpPaTHbLIM (hunbTpaumoHHbiM natpoHom (CF-110
crneYyéHHas 6poH3a), MakcuMarnbHbIi pasmep nop 70u. dunetp F-704-A 3akaH4mMBaeTCs NaTyHHbIMU
KOHHeKTopamu ¢ pe3bbon ana Tpyokn a8mm. dunetp F-704-S npegHasHadeH ans npyuMeHeHns B
NPOMBbILLNEHHbIX YCTponcTBax. - MakcnmansHoe paboyee aasneHue: 3000 kPa. MHTepBan paboumnx
Temnepatyp ot -20°C go +120°C. lomonorauus: E20-67R-010957

B Hanuumnn Tarke unbtp ctansHon: F-703-A (Bepcumn co wtyuepamn) E20-67R-010956, a takke F-
703-S (6e3 wryuepos).

& Class 1. High pressure filter for LPG systems. Aluminium body with sintered bronze, exchangeable
and washable filter cartridge (CF-110), max. pore size 70u. Filter F-704-A for autogas system (in/out
brass connections for pipe @8mm) and filter F-704-S for industry appliances. - Maximal working
pressure: 3000 kPa, range of working temperature: -20°C to +120°C, Approval: E20-67R-010957.
Filter unit is available also in steel body as a filter F-703-A (with connectors) E20-67R-010956 and filter
F-703-S for industry (without connectors )

-8- Certools



@ OUNLTP U3 CNeYEHHON GPOH3bI
C nepexoaom

LPG F-704-C / Dish

LPG F-704-C-1 /| ACME

LPG F-704-C-2 /| Bayonet

LPG F-704-C-3 / koHHekTop Tvn EURO

2% LPG high pressure filter
(sintered bronze cartridge)
Filter F-704-C / Dish

Filter F-704-C-1 / ACME

Filter F-704-C-2 / Bayonet
Filter F-704-C-3 / Euroconnector

Bbinycku / outlets:

_ M10

1

-

=T
@we s
Wy )

ot | Dish ACME |Bayonet |Euro- : prn
connector =
BhlnchVl
outlet
M10 v’ v’ v’ v’
w2is| vV v’ v’ v’

Gcbvmpr BbICOKOro faBnenunsa ansa yctaHosku LPG. AntoMrUHMEBBIN KOPMYC, C OOMEHHbIM U
OQHOBPEMEHHO NPUroAHbIM ANA OYNUCTKM MHOTOKpPaTHbIM punbTpaumoHHbIM natpoHom (CF-110
crneyéHHas 6poH3a), MakcuMarnbHbI pasmep nop 70u. PuneTp 3aKkaHYMBaAETCS YeTbIpbMS (MO BbIOOPY)
BepCcusMn BMYCKOB, 3TO nepexoabl Ans 3anpasku Tonnumea: Italian Dish unn ACME nnu Bayonet nnm
Euroztagcze, a Takke oByma Bepcuamu Bbinycka: M10 n W21,8.

- MakcumaneHoe paboyee gasnenue: 3000 kPa.

- InTepBan pabounx temnepatyp ot -20°C go +120°C.

- Knacc 1. lomonorauus: E20-67R-010957.

& High pressure filter for LPG autogas systems. Aluminium body with sintered bronze, exchangeable and
washable filter cartridge (CF-110), filtration rate 70p; used with four types of filling connectors: Italian Dish
or ACME or Bayonet or Euroconnector as a inlets and two types of outlet threads: M10 and W21,8

- Maximal working pressure: 3000 kPa.

- Working temperature: -20°C to +120°C.

- Class 1. Approval: E20-67R-010957.

-9- Certools




BunouHbie norpy3uukm / fork lift trucks

v

} CERTOOLS®
F7048

www.cartosis.pl

G Y3en cunetpa F-704-B (antoMrHWeBbI) Ans ra3obannoHoB
nponaH-6yTaH NpuMeHsieMblX B aBTOAOMax, Kemnepax, rasoBblX
nnuTax, KoMnpeccopax n MeaneHHO XOAHbIX CPpeAcTBax
TpaHcnopTa. CocTaBHble YacTu: KOPMyC, MHOFOKpPaTHbIN
dunbTpaumoHHbIi natpoH (CF-110 cneyéHHas 6poH3a), 4
YNNOTHUTENbHBIX KOMbLA, Hunnens ¢ rankon W21,8L , nepexon ¢
NPOKNaaKown.

Knacc 1. dunbTpbl ans ycranoskn LPG. MakcumansHoe paboyee
naesnenue: 3000 kPa. NHTepBan pabounx Temnepatyp ot -20°C go
+120°C. omonoraumu: E20-67R-010957 (vHpekc: F-704 Bepcus
antoMuHneBas), a Takke E20-67R-010956 (mHaekc: F-703 Bepcusi
13 cTanm).

% Filter unit F-704-B (aluminum) for propane cylinders used in
caravans, campers, gas stoves, compressors and low-speed
vehicles. Parts: hpusing, reusable filter cartridge (CF-1 10 sintered
bronze), 4-o'rings, nipple with nut W21,8L, reduction with seal.
Class 1; Filter for LPG systems. Maximal working pressure: 3000
kPa, working temperature: -20°C to +120°C, Approvals:- E20-67R-
010957 (index: F-704 aluminium body), E20-67R-010956 (index:
F-703 steel body version)

G Ysen dunerpa F-704-B (antomuHveBbIN) Ansa razobannoHoB
nponaH-6yTaH NPMMEHSIEMbIX B aBTOAOMaX, KeMrnepax , ra3oBbixX
nnuTax, KoMnpeccopax u MeaneHHO XOAHbIX CpeacTBax
TpaHcnopta. CocTaBHbIe YacTu: KOPMYyC, MHOFOKPaTHbIV
dunsTpauroHHbIi natpoH (CF-110 cnevéHHasi 6poHsa), 4
YNNOTHUTENbBHbBIX KObLa, Hunnens ¢ ravikon W21,8L , nepexog ¢
npoknagkon. KoHcTpykumst punbTpa no3BonsieT emy BpallaTbCsi
BOKPYI BEPTMKANbHOW OCK, obnervyasi NoAKMoYeHe K cucTeme.
Knacc 1. dunetpbl Ans ycraHoBku LPG. MakcumanbsHoe paboyee
naenexne: 3000 kPa. MHTepBan pabounx Temnepatyp ot -20°C go
+120°C. Momonorauun: E20-67R-010957 (nHaekc: F-704 Bepcus
antomunHuneBas), a Tawke E20-67R-010956 (mHpekc: F-703 Bepcus
13 ctanm).

% Filter unit F-704-W1 ( aluminium ) for forklifts. Parts: body,
housing, reusable filter cartridge (CF-110 sintered bronze), 5 -
o'rings, elbow, nipple with nut W21,8L and reduction with seal.
Construction of the filter allow rotate around the vertical-axis in order
to easier connection to the system.

Class 1; Filter for LPG systems. Maximal working pressure: 3000
kPa, working temperature: -20°C to +120°C, Approvals: E20-67R-
010957 (index: F-704 aluminium body), E20-67R-010956 (index: F-
703 steel body version)

G PK-10-00 - BpaLuaTenbHbIi KONEHHbIA KOHHEKTOP Ans
razo6annoHoB (MpUMEHSIEMbIV TakKe AN BUNOYHBIX NMOrpy34nKOB)

% PK-10-00 - rotary elbow connector for gas cylinders (commonly
used to forklift filters)

-10- Certools




BunouHbie norpy3uukm / fork lift trucks

- HW

CERTOOLS? i
F701 &

67R-010531 3
CLASS 1

G Y3en cdunerpa F-701-B gns rasobannoHoB nponaH-6yTaH
npUMeHsieMblx B aBTogoMax, Kemnepax, ra3oBblx MnuTax,
KOMMpeccopax U MeasIeHHO XOA4HbIX CpeacTBax TpaHcnopTa.
CocTaBHble YacTu: KpbiLlKka, Koprnyc, dunbTpauMoHHbIn natpoH (CF-
101 6ymara), 2 ynrnoTHUTENbHbIX KOMbLa, HUMMNESb C raikomn
W21,8L , nepexon ¢ NpoKnaakoun.

Knacc 1. MiuTepBan pabounx temnepatyp ot -20°C go +120°C.
MakcnmanbHoe paboyee gasnenue: 3000 kPa. CepTtudukar
romonorauun: E20-67R-010531.

% Filter unit F-701-B for propane cylinders used in caravans,
campers, gas stoves, compressores and low-speed vehicles. Parts:
body, housing, cartridge filter (CF-101 paper), 2 - o'rings, nipple with
nut W21,8L, reduction with seal.

Class 1; Work temp. range from -20°C to +120°C, Classification
pressure 3000 kPa, Approval: E20-67R-010531.

G Y3en cdounstpa F-701-W1 ans razobannoHoB nponaH-6yTaH
NPUMeHsIEMbIX B BUNOYHBIX Norpy3ymkax. CocTaBHble YacTu:
KpbILLKa, kopnyc, unsTpaumoHHbli natpoH (CF-101 bymara), 2
YNNOTHUTENbHBIX KOMbLa, Hunnens ¢ rankon W21,8L , nepexopg ¢
npoknagkon. KoHCTpyKums unbsTpa Nno3BonseT emy BpallaTbes
BOKPYr BEPTUKarnbHOW ocKu, obreryas noaKnioYeHNe K cucteme.
Knacc 1. NHTepBan pabounx Temneparyp ot -20°C go +120°C.
MakcumanbsHoe paboyee aaenenue: 3000 kPa. Ceptudukat
romonorauuu: E20-67R-010531.

% Filter unit F-701-W1 for propane cylinders used in forklifts.
Parts: body, housing, cartridge filter (CF-101 paper), 2 - o'rings,
elbow, nipple with nut W21,8L and reduction with seal.
Construction of the filter allow rotate around the vertical-axis for
easy connection to the system.

Class 1; Work temp. range from -20°C to 120°C, Classification
pressure 3000 kPa, Approval: E20-67R-010531.

£y F-T01
67R-010531
CLASS1 -

/

rERTAN 8

igpmmnm

-11- Certools




@ Y3nbl hpUNLTPOB & Filter sets

G Knacc 1; Y3en dunstpa LPG xugkon dassbl,
MHOFOKpaTHbIN, C 06MeHHbIM BymaxHbIM naTtpoHoMm (CF-101-
Z). ObnagaeT BMycKOM Y BbiNyCKOM MoA MeLHY Tpyoky
D=6mm (M10x1) (MHaekc npoaykTa: 0345701/10) nnm D=8mm

(M12x1) (Unpekc npogykTa: 0345701/12). dunetp
M3roTOBIEH U3 CMIlaBa LMHKa U arntoMUHUS U NMOKPbIT
raribBaHM4eCKon natyHHon obornoyvkon. NHTepBan paboumnx
Temnepartyp ot -20°C go +120°C. MakcumansHoe paboyee
paenexune: 3000 kPa.

Ceptudukat romonorauuun: E20-67R-010531.

% Class 1; LPG liquid gas filter set with replaceable paper
filter cartridge (CF-101-Z). It has cap with inlet and outlet for
copper pipe D=6 mm (M10x1) ( Product code: 0345701/10 )
or D=8 mm(M12x1) ( Product code: 0345701/12 ). Filter is
made of zinc and aluminium alloy (ZnAl) with brass coating.
Work temp. range from -20°C to 120°C, Classification
pressure 3000 kPa.

Approval: E20-67R-010531.

CERTOOLS!
\ F701 %
57R-01053
CLASS 13

G Knacc 1; Y3en comnetpa LPG rasoBow ¢asbl,
MHOFOKPaTHbIN, C 0BMEHHBIM ByMaXKHbIM NaTPOHOM.
O6nagaeT KopnycoM co BrycKoM v Bbimyckom M12 ¢
BO3MOXXHOCTbIO MOAKIIOYEHUSI pe3MHOBOro WwnaHra LPG
D=8wmm (MHgekc npogykTa: 0345701/K) nnn D=12mm
(Mnpexc npoaykTa: 0345701/K/12). UHTepBan pabounx
Temnepartyp ot -20°C go +120°C. MakcumarnbHoe paboyee
pasnexue: 3000 kPa.

Ceptudmkat romonoraummn: E20-67R-010531.

%Class 1; LPG dry gas filter set with exchangeable paper
filter cartridge. It has cap with inlet and outlet M12 with
possibility of connection the LPG hose with diameters
D=8mm ( Product code: 0345701/K ) or D=12mm ( Product
code: 0345701/K/12) .

Work temp. range from -20°C to 120°C, Classification
pressure 3000 kPa.
Approval: E20-67R-010531.

G Knacc 2. Y3en dunstpa razoBor hasbl O4HOKPATHbIN
3aXMMaHHbIV ¢ ABYX CTOpoH. Obnagaet pasHbiMu
KOHMrypaLmsamm BnyckoB 1 BbinyckoB D=12mm n D=16mm.
Ceptudmkat romonoraumun: E20-67R-010662

% Class 2. LPG dry gas filter set disposable, both sides
clipped. It is available with different inlet and outlet D=12 mm
and D=16 mm.

Approval: E20-67R-010662

&

430

1480 MM
z sw%
29901 0-H49
o

064
£5700,

-12- Certools



@ KnanaHbl 3anpaBku & Filling valves

eKnacc 3. KnanaH 3anpaBku Tun
Euro, yHM®ULMPOBaHHbIN KOHHEKTOP
3anpaBku rasa LPG. ViHTepBan
paboumx Temnepatyp ot -20°C go
+120°C, MuHMManbHbIN npoxos 60
n/MuH. Npy anddepeHumnaumnmn
nasnenuns 30 kPa. MakcumanbHoe
paboyee gaeneHue: 3000 kPa.
CepTtudukat romonorauum:
E20-67R-001007.

% Class 3, Euroconnector - LPG
filling valve (unified Euro-style).
Operating temperature range from
-20°C to 120°C, a minimum flow of 60
I/min. at a differential pressure of 30
kPa. Max. working pressure 3000 kPa.
Certificate of approval:
E20-67R-001007

EUROCONNECTOR,
BAYONET, ACME, ITALIAN DISH BAYONET, ACME, ITALIAN DISH

GKnanaH 3anpasku ZT-01 ¢ pe3bbori M10 (nHaekc: ZT01/10/ST) unm M10/M16x1,5 (nHgekc: ZT01/10/16/ST),
3aKoOH4YeHHbI BnyckoM Tonnvea Tun BAYONET, ACME vnu ITALIAN DISH. M3roToBNEHHbIN U3 CTanu NOKPbITOM
aHTMKOpPO3uiHbIM crioem (ST). UHTepBan paboumx Temnepatyp ot -20°C go +120° C. MakcumanbHoe paboyee faBneHue:
3000 kPa. Ceptudumkat romonorauun: E20-67R-010905.

& LPG internal filling valve ZT-01 with thread M10 (index: ZT01/10/ST) or M10/16x1,5 (index: ZT01/10/16/ST) used with
one type of filling connectors: ACME or BAYONET or Italian DISH. Made of anticorrosion coating steel (ST), working
temperature -20°C do +120°C. Max. working pressure 3000 kPa.

Approval : E20-67R-010905

-13- Certools




@ KomnoHeHTbl CNG & CNG components

e KoHHekTop CNG ZC-91 mHorokpatHbiv (100
packpyuvBaHui) ansi yctaHoBok CNG
- onga Tpyokn @12 mm

% CNG Pipe connector ZC-91 reusable (100 times)
- for pipe @12 mm.

G Knacc 0; dunbrp CNG F-705 BbicOKOro AaBneHus
ansi yctaHoBok CNG, cTanbHOM kopnyc ¢ OOMEHHbIM 1
OOHOBPEMEHHO MPUTOAHBIM Asl O4YNCTKU
PUNbTPALMOHHBIM NAaTPOHOM U3 CEeYEHHON BPOH3bI -
ansa Tpyokn @ 12mm. Paboudee gasnenne: 25000 kPa.
MHTepBan pabounx Temneparyp ot -20°C go +120°C.
Ceptudpmkar romonorauuu: E20-110R-000048

& Class 0; CNG Filter F-705 for high pressure, steel
body with removable and suitable for cleaning filter
cartridge (CF-111) made from sintered bronze, to pipe
@12 mm, 25000 kPa working pressure, operating
temperature range from -20°C to +120°C, Certificate of
approval: E20-110R-000048

CERTOOLS

@ Pemkomnnekt dpunstpa CNG F-705
(cbunbrpaumoHHbIi natpoH CF-111 +
ABa YNIOTHUTENbHbIX KOMbLA)

% Repair kit to CNG Filter F-705 (CF-111 filter cartridge
+ 2 o’rings)

G PemkomnnekT cdounsrpa CNG F-705 (ravika,
YNNOTHUTENBHOE KOMbLIO U 06onma)

. e % CNG Repair kit to Filter F-705 ( nut, sealing ring,

c clamping ring ).

e O6mMeHHbIN komnnekT dounstpa CNG ans rpy3oBuKoB
1 aBTOOYCOB, COCTOMT MU3: KOANECLIEHTHOIO
dunsrpaumnoHHoro natpoHa CS-111, 2 ynnoTHUTENbHbIX
Korew, 1 CUNMKOHOBOIO YNnoTHUTenNs. KoMnnekT MmoxeT
ObITb 3aMeHuTeNem natpoHa ansa punsrpa CLEAN AIR
POWER mogenb 616190-1, 700005 n HWA-YOUNG:
HY-NGF-2450

% Replacing kit to CNG Filter for trucks & buses,
include: Coalescing filter cartridge CS-111, 2 oring’s and
silicone. Kit can be used instead of cartridge to filter
CLEAN AIR POWER model 616190-1, 700005 and
HWA-YOUNG: HY-NGF-2450

-14- Certools




@ NaTpoHbl GUNLTPOB < Filter cartridges

- MpeunmyLlecTBeHHO NpuMeHsAeMbIn B unstpax Certools F-701 35.5

% Paper filter cartridge 14,2

- Commonly used with F-701 Certools filters

23

G MaTpoH 6ymMaxHbIN
- MpenmyLLecTBEHHO NPUMEHSIEMbIN B (hrnsTpax 42
Certools F-779-A, B, Magic A7,
& Paper filter cartridge :
- Commonly used with F-779-A Certools, Magic filters 30 “.’
39
G MaTpoH 6ymMaxHbIN
. 42
- MpenmyLuecTBeHHO NpuMeHseMbin B punstpax Koltec ;
7
& Paper filter cartridge
- Commonly used with Koltec filters
30
L ]
G MaTpoH 6ymMaxHbIN 38
- MpenmyLLecTBEHHO NPUMEHSIEMBIN B (hrnbTpax -

Certools F-779-B, C; F-781 —

& Paper filter cartridge
- Commonly used with F-779-B,C; F-781 Certools filters

49

44

G MaTpoH NonNMacTpoBbIN (C CETKOW)
- MpenmyLLecTBEHHO NPUMEHSIEMbIN B (hrnbTpax ;
Certools F-779-B, C; F-781 —

% Polyester filter cartridge (with wire mesh)

- Commonly used with F-779-B,C; F-781 Certools filters 4

44

Certools



wa

TPOHbI hUNLTPOB

< Filter cartridges

G MaTpoH u3 cTeknoBosnokKHa (C ceTKown)
- MpenmyLLecTBEHHO NPUMEHSIEMbIN B (hrnbTpax
Certools F-779-B, C; F-781

% Fiber glass filter cartridge (with wire mesh)
- Commonly used with F-779-B,C; F-781 Certools filters

—

49

44

G MaTpoH nonuacTpoBbIN (6e3 ceTKn)
- MpenmyLLeCcTBEHHO NPUMEHSIEMBIN B (hrnbTpax
Certools F-779-B, C; F-781

% Polyester filter cartridge (without wire mesh)
- Commonly used with F-779-B,C; F-781 Certools filters

—

49

44

G MaTpoH 6ymMaxHbIN
- lMpenmyLLecTBEHHO NPUMEHSIEMbIN B (hrnbTpax
Certools F-779-B-d, C-d

< Paper filter cartridge
- Commonly used with F-779-B-d,C-d Certools filters

42

17

58

39

G MaTpoH M3 CTEeKNOBOSIOKHA (C CeTKOWN)
- MpenmyLLecTBEHHO NPUMEHSIEMBIN B (hrnbTpax
Certools F-779-B-d, C-d

% Fiber glass filter cartridge (with wire mesh)
- Commonly used with F-779-B-d,C-d Certools filters

42

17
—

58

39

G MaTpoH 6ymMaxHbIN
- MpenmyLLecTBEHHO NPUMEHSIEMBIN B (hrnbTpax
Certools F-779-B-d, C-d

& Paper filter cartridge
- Commonly used with F-779-B-d,C-d Certools filters

73

38
19

44

Certools




@ NaTpoHbl GUNLTPOB < Filter cartridges

_ @ MaTpoH NONN3CTPOBLIN (C CETKOIA) A
- MpenmyLLeCcTBEHHO NPUMEHSIEMbIN B (hunbTpax L,

Certools F-779-B-d, C-d
% Polyester filter cartridge (with wire mesh)
- Commonly used with F-779-B-d,C-d Certools filters 73
44
G MaTpoH M3 CTEeKNOBOJSIOKHA (C CeTKOW) 38
- MpenmyLLecTBEHHO NPUMEHSIEMbIN B (hrnbTpax A9,

Certools F-779-B-d, C-d

% Fiber glass filter cartridge (with wire mesh)

- Commonly used with F-779-B-d,C-d Certools filters -

44

G MaTpoH nonuacTpoBbIN (6e3 ceTkn) =

- [MpenmyLLecTBEHHO NPUMEHSIEMbIN B (hrnbTpax A9,

Certools F-779-B-d, C-d

% Polyester filter cartridge (without wire mesh)

- Commonly used with F-779-B-d,C-d Certools filters 7

44

G MaTpoH kepammnyeckum (cne4éHHas 6poH3a)
- [MpenmyLLecTBEHHO NPUMEHSIEMbIN B (hrnbTpax
Certools F-703 n F-704

% Sintered bronze filter cartridge
- Commonly used with Certools F-703 & F-704 filters

M16x1,5

G MaTpoH kepammnyeckum (cne4éHHas 6poH3a)
- BO3MOXXHO 13roToBneHue naTtpoHa pa3HbIX pa3MmepoB

&% Sintered bronze filter cartridge
- Another dimensions of filters on request

3/4 NPT

Certools



@ MaTpoHbl hunbTpoB

< Filter cartridges

Tun cdounetpa | TUn ycTaHOBKM WHpexkc / Mepexopabl / | dnekTpoknanaHbl
| Type of filter | Type of Cross reference Reducers | Electrovalve
Installation
BymaxkHbIN Lovato, - - Lovato, 39
[oHblwka STAG, Lovato EV
meTannuueckue |AC, 16
/ Landi Renzo
Paper
metal bottoms 21
"""" e
§5
35,5
BymaxkHbIN Marini Autogas |WHaekc / code: - Marini 7.3
BepxHui n LPG ELG0006
HUKHUN Marini Autogas:
BOPOTHWK - ELG0009 23
pesnHoBble
/ L —
Paper =
plastic and 16
rubber bottoms 4355
28
BymaxHbii Landi (LES, LIS) = = LPG Landi, 14
[oHblLwka Landi Renzo Landi Renzo N
metannuyeckre |(IGS, LCS,
OMEGAS)
/ 20
Paper
metal bottoms
e
38
BymaxkHbIi BRC WHpeke / code: = BRC : ET 98 18
[oHbilwka ZAVOLI ——
nnactmaccosble [IMPCO BRC: PL040011 ]
Tun ECO
27
/
Paper L
1 [ ) Y (N IR S —————)
plastic bottoms N
type ECO 10,2
35
BymaxHbIn Landi, = - MED.. 8
[oHblwka Tartarini, 3G type 21 M
nnactmaccosble |Koltec,
Tun ECO Landi Renzo.
22
/
Paper L ;
plastic bottoms ‘1—5>
type ECO
-18- Certools




@ MaTpoHbl hunbTpoB

< Filter cartridges

Tun cdounetpa | TUn ycTaHOBKM WHpexc / Mepexopabl / | dnekTpoknanaHbl
| Type of filter | Type of Cross reference Reducers | Electrovalve
Installation
BymaxHbIi Stefanneli = Stefanneli (GEO - =
JoHbILLIKa 110, BIG GEO) J6,
MeTannyeckue
TN /
% Paper, L
. J L metal bottoms. [
BymaxkHbIi Prins, WHpekc / code: |Elpigaz Elpigaz (GLP 31
[oHblwka Emmagas, (COMETA, 01,03) 3
nnactMmaccoBskle |Zavoli, OMB: ACC5 VEGA, ANA) Valtek (01,02, i
Tvn ECO Elpigaz, Scorpion 03, 07 standard,
/ KME, 07 BFC), 20,5
Paper STAG, AC, MILANO, OMB i
plastic bottoms [AG Centrum, (MB2 "ALFEA d |
type ECO MILANO . BFC", B2 o
"ALFEA", DB2 10
"DIANA")
BymaxHbIn Tartarini, Koltec, |WHaekc / code: = 1203 Atiker 18
[oHbilwKa NECAM, MED.: 4G 4
nnactmaccoseble |Voltran, Atiker, | Tartarini:
Tun ECO Omnia 8960140
Atiker: FC.013
/ 32
Paper,
plastic bottoms
type ECO
1
BymaxkHbIi Landi Renzo WHpeke / code: = LPG typ 71 - 36
[oHbIWKa (LCS, IGS, MED 14,5
nnacTmaccoBble |OMEGAS) MED.: 1
Tun ECO 674072000
Renault: 16
/ 169191812R
Paper, I
plastic bottoms -
type ECO 14,5
20,5
BymaxHbIn Romano WHpeke / code: = Romano 6
[oHblwka Romano: REVG/00 g
nnacTMaccosble REG §
Tun ECO
/ 20
Paper,
plastic bottoms ( | (| v |_|
type ECO
-19- Certools




@ MaTpoHbl hunbTpoB

< Filter cartridges

Tun cdounetpa | TUn ycTaHOBKM Wnpekc / Mepexogbl /| |3nekTpoknanaHbi
| Type of filter | Type of Cross reference Reducers | Electrovalve
Installation
Buckosa Bedini ECOgeo |WHpekc / code: |Elpigaz Bedini: Maya-
/ 3000 OMB: ACC5 (COMETA, AUTOGAS 29
viscose Autogas ltalia VEGA, ANA) ITALIA .5,
3,5)
36
BymaxHbiii AC-STAG, Wupekc / code: - Tomasetto: 16
[oHbiwwka AG Centrum EVG 01 "
MeTannuyeckme Tomasetto: EGAT1001
/ EGAT2050
Paper, 20,5
metal bottoms.
85
42
J_l
BymaxHbii Landi Renzo WHpekc / codes | Punbrp/filter =
[oHbilwKa (OMEGAS) MED FL-375
MeTannuyeckme FIAT: 71754829 |WNHpekc/code
UFI: FIAT 71753999
/ 46 008 00 50
Paper, SOFIMA:
metal bottoms. S600G
Renault:
169195019R
17
42
‘1_7’
[Monuactep c Landi Renzo WHpeke / codes : = =
ceTkomn (OMEGAS)
[oHbIWwKa FIAT: 71754829
T MeTannuyeckue UFI:
46 008 00 50
/ SOFIMA:
Polyester with S600G
wire mesh Renault:
metal bottoms. 169195019R
17
42
J_l
CrteknoBonokHo | Landi Renzo WHpekc / codes: = =
C ceTkomn (OMEGAS)
[oHbIWwKa FIAT: 71754829
MeTannuyeckme UFI:
46 008 00 50
/ SOFIMA:
Glass fibre S600G
with wire mesh Renault:
metal bottoms. 169195019R
17
-20- Certools




@ MaTpoHbl hunbTpoB

< Filter cartridges

Tun dounbTpa

Tvn ycTaHOBKM

WUHpekc /

Mepexonb! /

3ﬂeKTpOKﬂaI'IaHI:I

| Type of filter | Type of Cross reference Reducers | Electrovalve
Installation
- 42
MMonnactep c Prins - - - 17
ceTkomn —
[oHbiwka
MeTannmyeckme
/ 30
Polyester with
wire mesh
metal bottoms. g
17
31
BymaxkHbIi Elpigaz (Stella) = dunbrp/filter Valtek: 07 big §J~5
[oHbilka OMVL (REG) Valtek 92 filter —
nnacTmMaccoBble
mn ECO
46
/
Paper,
plastic bottoms j
type ECO ‘E"
42
A7,
BymaxHbii AG (Zenit, WHpeke / codes: | Punbtp/filter =
[oHblLwka Sirocco), Landi  [MATRIX: F3y MATRIX XF 301
meTtannuyeckune |[(LSI), ZAVOLI 015L
(Alisei N, Alisei [PARKER:
/ Zeta), AC-STAG, | 1014010136 54
Paper, BEDINI UFI:
metal bottoms. [(ECOgeo 3000), |46 007 00
E-GAS (MCE SOFIMA:
injection),MG S6007G
motor gas >
(NewEco DR1) 17
42
7,
MonunacTep ¢ AG (Zenit, WHpeke / codes: | Punbtp/filter =
CeTKow Sirocco), Landi | MATRIX: MATRIX XF 301
[oHbILwka (LSI), ZAVOLI F30015L
meTtannuyeckne |(Alisei N, Alisei |PARKER:
Zeta), AC-STAG, | 1014010136 54
/ BEDINI UFI:
Polyester with (ECOgeo 3000), (46 007 00
wire mesh E-GAS (MCE SOFIMA:
metal bottoms. [injection),MG S6007G
motor gas '1—7'
(NewEco DR1)
42
A,
CreknoBornokHo (AG (Zenit, WHpeke / codes: | Punbtp/filter =
C ceTkomn Sirocco), Landi | MATRIX: MATRIX XF 301
[oHbILwka (LSI), ZAVOLI F30015L
meTtannuyeckune |(Alisei N, Alisei |PARKER:
Zeta), AC-STAG, | 1014010136 54
/ BEDINI UFI:
Glass fibre (ECOgeo 3000), |46 007 00
with wire mesh |E-GAS (MCE SOFIMA:
metal bottoms. [injection),MG S6007G
motor gas <1—7>

(NewEco DR1)

-21-

Certools




@ MaTpoHbl hunbTpoB

< Filter cartridges

Tun cdounetpa | TUn ycTaHOBKM WHpexkc / Mepexopabl / | dnekTpoknanaHbl
| Type of filter | Type of Cross reference Reducers | Electrovalve
Installation
35.5
BymaxHbIi EUROPEGAS, |WHaekc/code: |Tomasetto: - 16
[oHbILKa AC-STAG, ﬁ[g"s I?,I 2%09 —>
MeTannuyeckue ,:tlllgir, 'FI;oGrr’lAangg% ARTIC AT09, 0
‘ ANTARTIC AT13
/ AG Centrum 20
Paper, Atiker: FC.060 Alex: Shark 1200,
metal bottoms. Shark 1500
Atiker: SR04 | | I—I
BymaxkHbIi EUROPEGAS, |WHaekc/code: |Tomasetto: - 35
[oHblLLKa AC-STAG, ATO7, AT09, Jo,
nnactmaccoseble |Atiker, Tomasetto: ﬁ'ﬁ'ﬁ’é‘ﬁ%gog'
Tun ECO Alex, RGAT 2070 ANTARTIC AT13
AG Centrum Atiker: FC.060
/ Alex: Shark 1200, 22
Paper, Shark 1500
plastic bottoms
type ECO Atiker: SR04 | | v | S
. . 25
BymaxHbii AC-STAG, WHpekc / code: | Atiker (SR 05) [OMB 93
[oHbilwKa Atiker, (GB2"STAR") R
metannuyeckne [KME (TURG, Atiker: FC.061
Silver FZ6) Atiker (FC.061)
/
Paper, 26
metal bottoms
42
7,
BymaxkHbIi BRC WHpeke / codes: | Punbtp/filter =
[oHblwka Czakram BRC BRC FJ1HE
MeTannuyeckue BRC: M.T.M srl Italy
09SQ99010005
/ 57
Paper, UFI: 46 005 00
metal bottoms
SOFIMA:
S6005G
17
42
A
Monunactep ¢ BRC WHpeke / codes: | Punbtp/filter =
ceTkon Czakram BRC BRC FJ1HE
[oHbIWwKa BRC: M.T.M srl Italy
MeTannunyeckme 09SQ99010005
57
/ UFI: 46 005 00
Polyester with SOFIMA:
wire mesh S6005G
metal bottoms. —
17
-22- Certools




@ MaTpoHbl hunbTpoB

< Filter cartridges

Tun cdounetpa | TUn ycTaHOBKM WHpexc / Mepexopabl / | dnekTpoknanaHbl
| Type of filter | Type of Cross reference Reducers | Electrovalve 4
Installation 17
CTteknoBornokHo |BRC MHpeke / codes: | dunbtp/filter - '_’
C ceTkon Czakram BRC BRC FJ1HE
[oHbIWwKa BRC: M.T.M srl Italy
MeTannuyeckue 09SQ99010005
/ UFI: 46 005 00 37
Glass fibre
with wire mesh SOFIMA:
metal bottoms. S6005G
17
42
£
MonunacTep BRC WHpeke / codes: | Punbrp/filter =
[oHbILWwKa Czakram BRC BRC FJ1HE
MeTannunyeckme BRC: M.T.M srl Italy
09SQ99010005
/ 57
Polyester UFI: 46 005 00
without wire
mesh SOFIMA:
metal bottoms. S6005G
17
34
BymaxHbii Tartarini WHpekc / code: | Punbtp/filter = 12
[oHbiwka Tartarini FGM 03 T
MeTannuyeckme Tartarini: kod/code:
8960385 8950905
/
Paper, 46
metal bottoms
,,,,,, L 1
Buckosa Bigas = = Bigas (M.91i
EGM-04) 35
/ R
viscose
3,54
22,5
CeTka Xpomo- Vialle = = = 12,4
HUKeneBast N
[oHbIWwKa
MeTannuyeckne
42

/
Chrome-nickel
mesh
metal bottoms

Certools




@ MaTpoHbl hunbTpoB

< Filter cartridges

Tun cdounetpa | TUn ycTaHOBKM WHpexkc / Mepexopabl / | dnekTpoknanaHbl
| Type of filter | Type of Cross reference Reducers | Electrovalve 35
Installation 12
BymaxHbIi ICOM (JTG, = dunbrp/filter -
[oHbILwka JTG I, JTG-HP) TIPO "FLO1"
MeTannyeckune ICOM
/ 65
Paper,
metal bottoms
28
BymaxHbIit RMG - RMG - 10
BepxHee
[OHBILLIKO:
nnactmacca
HwxHee
[OHBILLKO: 51
mMeTann
/
Paper, 01 0 0 | Vv I—I
plastic upper lid
metal lower lid
40
BymaxHbIn Awato = - Awato 16
[oHblLwka —
MeTannyeckne
/
Paper,
metal bottoms 20
28
BymaxkHbIi Lovato (Easy WHpekc / code: |RGJ Smart = &
[oHblwka Fast — Smart,
mertannuyeckme [Easy Fast - OBD |Lovato:
/ Il, Easy Fast - 1294011
Paper, DIRECT 50
metal bottoms [INJECTION)
77
51
BymaxHbii ICOM = = =
[oHbilwka (TG, JTG II)
pe3nHoBble
/ 95
Paper,
rubber bottoms
[
51

Certools




@ MaTpoHbl hunbTpoB

< Filter cartridges

Tun cdounetpa | TUn ycTaHOBKM WHpexc / Mepexopabl / | dnekTpoknanaHbl
| Type of filter | Type of Cross reference Reducers | Electrovalve
Installation
CreknoBonokHo [IMPCO(BcTpeya = = -
[oHbILWwKa eTca B 30,7
METannM4yeckne | BUIOYHbIX 13.5
norpyaumkax —
/ mapku Toyota)
Glass fibre /
with wire mesh  [IMPCO 3015
metal bottoms. [(commonly used ’
in TOYOTA
forklift trucks) (| (] Ve L1
BymaxkHbIN Lovato (Easy WHpekc / code: |Lovato -
[oHbiwwka Fast - Smart, (RGJ-3 Smart 28
metannuyeckue |Easy Fast- OBD| Lovato: RGJ FAST HP 10
/ Il, Easy Fast- |674705000 RGJ SUPER T
Paper, DIRECT FAST HP)
metal bottoms [INJECTION) ”
,,,,,, |
17.8
123
Komnosauuus Ipynna FIAT MHpeke / code: = = 1 1
nonvammnao- (FlAT, Alfa Romeo,
CTeKnsiHHas Fancia)lcg FIAT: 60657348
/ o CNG e
The Glass - 20 032000
polyamide /
composite. all cars FIAT group
( FIAT, Alfa Romeo, ‘ ‘
Lancia ) with CNG T
systems installed :
by FIAT
Komnosauuus Ipynna FIAT MHpeke / code: = = 7
nonuamuao- (FIAT, Alfo Romeo, 3
CTeKNsiHHas Fancia)lci FIAT: 71753147 N—
/ Soranonion CNG
The Glass - o1 0412000 18
polyamide /
composite. all cars FIAT group
( FIAT, Alfa Romeo, T T
Lancia ) with CNG 123
systems installed
by FIAT
Komnosauuus Ipynna FIAT MHpeke / code: = = a6
nonuamuao- (FIAT, Alfo Romeo, 3
CTeKNsHHas Landia)c/ FIAT: 71771242 N—
/ d)aﬁpl/ll-lHOIj NG
The Glass - |{7'6412000 i
polyamide /
composite. all cars FIAT group
( FIAT, Alfa Romeo, T T
Lancia ) with CNG 123

systems installed
by FIAT




@ MaTpoHbl hunbTpoB

< Filter cartridges

Tun cdounetpa | TUn ycTaHOBKM WHpexc / Mepexopabl / | dnekTpoknanaHbl
| Type of filter | Type of Cross reference Reducers | Electrovalve 28
Installation
- los
BymaxHbIi Lovato (Easy X657205 RGJ 3.2 -
[oHblwka Fast - Smart,
meTannuyeckne |Easy Fast- OBD
/ Il, Easy Fast -
Paper, DIRECT 315
metal bottoms [INJECTION) ?
L 1
BymaxkHbIN Landi Renzo Landi Renzo LI10 - 35
[oHbiwka Omegas (MED) 155
nnactmaccoBble [Omegas Evo 161040000 —>
Tun ECO
/ Renault, Dacia
Paper, 169198413R 2
plastic bottoms
typeeco | 1 0 | { I )
42
I8,
CreknoBornokHo (STAG, AC = dunbrp/filter =
C ceTkon Valtek tun 97
[oHbIWwKa
MeTannuyeckne
/ 55
Glass fibre
with wire mesh
metal bottoms.
[
18
42
I8,
MonunacTep STAG, AC = dunbrp/filter =
[oHblwka Valtek Tun 97
MeTannmyeckme
/ 55
Polyester
without wire
mesh
metal bottoms. I
18
31
BymaxHbIn Tartarini = - Tartarini 8
[oHbilwka (TEC 99, (EO08G) N
nnactmaccoseble |Etagas)
Tun ECO
34
/
Paper,
plastic bottoms ‘
type ECO =
10

Certools




@ MaTpoHbl hunbTpoB

< Filter cartridges

Tun cdounetpa | TUn ycTaHOBKM WHpexc / Mepexopabl / | dnekTpoknanaHbl
| Type of filter | Type of Cross reference Reducers | Electrovalve
Installation 2
BymaxHbIi AG Centrum = AG Centrum: - 12
[oHblwka Vito, Vito Super —*
MeTannmyeckme
/
Paper, 21
metal bottoms |
43—7>«
ByMaxHbIN BRC (Sequent), - - BRC : ET 98, PR
[oHbIWwka ZAVOLI, IMPCO oraz nowy typ 2 —
nnacTmMaccoBble - ET98 MYO07 ‘
firmy M.T.M. srl 0
/ italy =
Paper, /
plastic bottoms BRC : ET 98, L
type ECO &newtype | ~ i g
- ET98 MYO07 10
firmy M.T.M. srl 33,5
italy
BymaxHbIn Atiker, Fema Atiker: FC.010 - Atiker: 1200, 30
[oHbILWwKa 1202, 1202 AMP 8
nnacTmaccoBble =
Paper, S N —
plastic bottoms TN
type ECO
24
‘15,5
ByMaKHbIN Aisan-Nikki (8 - - Nikki i
,D,OHblLUKa BUITO4YHbIX
meTannuueckue | MOrpy3qMkax
Nissan n
/ Mitsubishi- 50
Paper, Pionner)
metal bottoms |/
AisanNikki | | | | L_J
(Nissan &
Mitsubishi-
Pionner)
42
A7,
BymaskHbIn LOVATO (Easy |WHpekc/code: |dunbtpffilter =
,D,OHbILUKa Fast - Smart, Lovato FSU
meTannuueckue |Easy Fast-OBD| LOVATO:
Il, Easy Fast- |4205003,
/ DIRECT 4205001 52
Paper, INJECTION) UFI:
’ 46 006 00
|
metal bottoms SOFIMA:
S6006G [ J
7

27-

Certools




@ MaTpoHbl hunbTpoB

< Filter cartridges

Tun cdounetpa | TUn ycTaHOBKM WHpexc / Mepexopabl / | dnekTpoknanaHbl
| Type of filter | Type of Cross reference Reducers | Electrovalve 42
Installation 17
MonunacTep ¢ LOVATO (Easy |WHpekc/ code: |dunbtpffilter -
CeTKOW Fast - Smart, Lovato FSU
[oHbiwka Easy Fast - LOVATO:
coBven meTtannuyeckue [OBD I, Easy 4205003,
Fast - DIRECT |4205001 52
/ INJECTION) UFI:
Polyester 46 006 00
with wire mesh SOFIMA:
metal bottoms. S6006G
17
42
17
CreknoBonokHo (LOVATO (Easy |WHaekc/ codes: |®Dunbtpffilter = M
C ceTkon Fast - Smart, Lovato FSU
[oHbiwka Easy Fast - OBD |LOVATO:
mMeTannuyeckue. [Il, Easy Fast-  |4205003,
DIRECT 4205001 5
/ INJECTION) UFI:
Glass fibre 46 006 00
with wire mesh SOFIMA:
metal bottoms. S6006G
17
42
17,
MonunacTpoBbit  |[LOVATO (Easy |WHaekc / codes: | Punbtp/filter =
[oHblwka Fast - Smart, Lovato FSU
meTtannuyeckme [Easy Fast- OBD| 4205003,
Il, Easy Fast-  |4205001
/ DIRECT UFI: 52
Polyester INJECTION) 46 006 00
without wire SOFIMA:
mesh S6006G
metal bottoms.
17
CreknoBornokHo |Vialle = - - 52
C ceTkon 23
[loHbILLKa M
MeTannuyeckne
’ ts| - LTI
Glass fibre
with wire mesh | |
metal bottoms.
-28- Certools




@ PemMKOMNNeKTbI

<& Replacement kit

| KNTO1 @

PemkomnnekT counbrpa F-701, F-701-W, F-701-K
- PeMKOMNNEKT cOCTOUT 13 6yMaXKHOro ounsTPaLMOHHOMO NaTpoHa u
[OBYX YNIOTHUTENbHbIX KOMEL,.

Filter F-701, F-701-W, F-701-K replacement kit
- Replacement kit consists of the paper filter cartridge and two sealing
up orings.

35.5

142

| KNTT9B @

| KN2779.8 |

O

| KN37798 @
L
(O

23

Pemkomnnekt cdounerpa F-779-B
- PemMKkoMnneKT cocTtonT 13 6ymMaxHoro donnbTpaLMoHHOro NaTpoHa v 38
YNNOTHUTENbBHOIO KoMbLia. 19
Filter F-779-B replacement kit
- Replacement kit consists of the paper filter cartridge and sealing up
oring. 49

44
Pemkomnnekt cdounerpa F-779-B
- PeMKOMMNMeKT coCToMT M3 NONMMICTPOBOIO (C CETKOW) 38
MNBETPaLMOHHOIO NAaTPOHA U YMIOTHUTENBHOTO KOMbLia. 19
Filter F-779-B replacement kit
- Replacement kit consists of the polyester filter cartridge (with wire
mesh) and sealing up oring. 49

44
Pemkomnnekt cdounerpa F-779-B
- PemkoMnneKT coctomT 13 chmnbTpaLmoHHOro natpoHa u3 38
CTEKNOBOJIOKHA (C CETKON) U YNMOTHUTENBHOIO KOsbLa. 19
Filter F-779-B replacement kit
- Replacement kit consists of the fiber glass filter cartridge (with wire
mesh) and sealing up oring. 49

44
Pemkomnnekt counerpa F-779-B
- PemkomnnekT coctonT 13 nonuacrtpoBoro (6e3 ceTku) 38
MNBETPaLMOHHOIO NAaTPOHAa U YMIOTHUTENBHOTO KoMbLia. 19
Filter F-779-B replacement kit
- Replacement kit consists of the polyester filter cartridge (without
wire mesh) and sealing up oring. 49

44

-29- Certools




@ PeMKkoMnneKThI <#Replacement kit

G Pemkomnnekt ounsrpa F-779-B-d 38
- PemkoMnneKT coctonT 13 6ymaxHoro dounnbTpaLMoHHOro NaTpoHa v 19
YNNOTHUTENbBHOIO KoMbLa. A

Filter F-779-B-d replacement kit
- Replacement kit consists of the paper filter cartridge and sealing up
oring. 73

44

G Pemkomnnekt ounsrpa F-779-B-d 38
- PeMKOMMNMeKT cocToMT M3 NONMMUICTPOBOrO (C CETKOW) 19
MNBETPaLMOHHOIO NAaTPOHA U YMIOTHUTENBHOMO KoMbLia. A

Filter F-779-B-d replacement kit
- Replacement kit consists of the polyester filter cartridge (with wire
mesh) and sealing up oring. 73

44
Pemkomnnekt ounsrpa F-779-B-d 38
- PemkoMnneKT coctomT 13 cmnbTpaLmoHHOro natpoHa u3 19
CTEeKJTIOBOJIOKHA (C CETKOM) U YNIOTHUTENBHOIO KombLia. A

Filter F-779-B-d replacement kit
- Replacement kit consists of the fiber glass filter cartridge (with wire
mesh) and sealing up oring. 73

44

G Pemkomnnekt ounsrpa F-779-B-d 38
- PemkomnnekT coctonT 13 nonuactpoBoro (6e3 ceTku) 19
hMNbTPaLMOHHOIO NaTpoHa U YMMOTHUTENBHOMO KosbLia. >

Filter F-779-B-d replacement kit
, - Replacement kit consists of the polyester filter cartridge (without

wire mesh) and sealing up oring. 73

44

G Pemkomnnekt ounsrpa F-779-B-d
- PemkomMnnekT coCcTouT 13 ounbTpaLmMoHHOro NaTpoHa 13 42
CTeKrnoBoJokHa (c ceTkoi) - CF-107-2 n AByX yNNOTHUTENbHbIX A7,

Kornetl.

% Filter F-779-B-d replacement kit
- Replacement kit consists of the fiber glass filter cartridge (with wire
mesh) - CF-107-2 and 2 sealing up orings.

39

-30- Certools




@ PeMKOMNNeKTbI

<& Replacement kit

Pemkomnnekt KN-200-Z
G - PeMKOMNNEKT COCTOUT 13 6yMaXKHOro hunsTPaLMOHHOMO NaTpoHa u
YeTbIPEX YNIOTHUTENbBHBIX KOMEL,.
- MpumeHsiembIn B ycTaHoBKax Lovato. 39
16
% KN-200-Z replacement kit )
- Replacement kit consists of the paper filter cartridge and four
sealing up orings. 21
- Used with Lovato systems.
,,,,,,, I_,_._I
‘84—:5
Pemkomnnekt KN-203-P
- PeMKoMNNEKT cOCTOUT 13 6yMaXKHOro ounsTPaLMOHHOIO NaTpoHa u
YeTbIPEX YNIOTHUTENBHBIX KOMEeL,. 38
- MpumeHsiembin B ycTaHoBkax BRC. 18,
KN-203-P replacement kit
- Replacement kit consists of the paper filter cartridge and four 27
sealing up orings.
- Used with BRC systems. | | il
102
Pemkomnnekt KN-204-P
- PemkomMnnekT coctonT 13 6ymaxHoro donnbTpaLMoHHOro NaTpoHa v
NSATU YNNOTHUTENBHBIX KOMNEL,, NMPUYEM OLHO KOMbLIO Y>Ke YCTaHOBMEHO 35
BHYTPY NaTpoHa. 3
- MNprmeHsiembIn B yctaHoBkax Med. =
KN-204-P replacement kit 22
- Replacement kit consists of the paper filter cartridge and five
sealing up orings (one already assembled inside cartridge). —
- Used with Med systems. T
Pemkomnnekt KN-206-P
- PemkoMnnekT coctonT 13 6ymMaxHoro donnbTpaLMoHHOro NaTpoHa v
TPEX YNIOTHUTENbHBIX KOMEL, NPUYEM OHO KOSbLO YK€ YCTaHOBINEHO
BHYTPM NaTpPOHa. 31
- MNpumeHsiembint B ycTaHoBKax Valtek. 4
Y r—
KN-206-P replacement kit
- Replacement kit consists of the paper filter cartridge and three 20,5
sealing up orings (one already assembled inside cartridge). / )
- Used with Valtek systems. o
10
Pemkomnnekt KN-207-P
- PemkoMnneKT coctonT 13 6ymMaxHoro donnbTpaLMoHHOro NaTpoHa v
[OBYX YNIOTHUTEMbHbIX KOMEL,.
- MpumeHsiembIit B ycTaHoBKax Omnia, Med. 18
4
% KN-207-P replacement kit
- Replacement kit consists of the paper filter cartridge and two
sealing up orings. 32
- Used with Omnia, Med systems.
[ ]
1
-31- Certools




@ PemMKOMNNeKTbI

<& Replacement kit

| KN-208P @

Pemkomnnekt KN-208-P
- PeMKOMNNEKT COCTOUT 13 6yMaXKHOro hunsTPaLMOHHOMO NaTpoHa u
YMIOTHUTENBHOTO KOoMbLia.

- MpumeHsiembin B ycTaHoBKax Landi Renzo. 36
14,5
% KN-208-P replacement kit
- Replacement kit consists of the paper filter cartridge and one sealing
up oring. 16
- Used with Landi Renzo systems. (
123
Pemkomnnekt KN-212-Z
- PeMKoMNNEKT cOCTOUT 13 6yMaXKHOro ounsTPaLMOHHOIO NaTpoHa u
YeTbIPEX YNIOTHUTENBHBIX KOMEeL,. 36
- MpumeHsiembin B ycTaHoBKax Tomasetto. 16
KN-212-Z replacement kit
- Replacement kit consists of the paper filter cartridge and four sealing 205
up orings. ’
- Used with Tomasetto systems. |
85
Pemkomnnekt KN-216
- PemkomMnnekT coctonT 13 6ymaxHoro donnbTpaLMoHHOro NaTpoHa v 42
TPEX YNMOTHUTENBHbLIX KOMEL. 17,
- MpumeHsiembln B ycTaHoBKkax Matrix.
KN-216 replacement kit
- Replacement kit consists of the the paper filter cartridge and three 54
sealing up orings.
- Used with Matrix systems.
7
Pemkomnnekt KN-216-2
- PemkoMnneKT cocTomT 13 chmnbTpaLmoHHOro natpoHa u3 42
CTEeKJTOBOJIOKHA (C CETKOW) N TPEX YMIOTHUTENbHBIX KOMELL. 17,
- MpumeHsiembln B ycTaHoBKkax Matrix.
KN-216-2 replacement kit
- Replacement kit consists of the fiber glass filter cartridge (with wire 54
mesh) and three sealing up orings.
- Used with Matrix systems.
7
Pemkomnnekt KN-217-Z
- PemkoMnneKT coctonT 13 6ymMaxHoro donnbTpaLMoHHOro NaTpoHa v
[OBYX YNIOTHUTEMbHbIX KOMEL,. 355
- MNprmeHsiembIn B ycTaHoBKax Tomasetto MHTerpMpoBaHHoe. 16’
KN-217-Z replacement kit
- Replacement kit consists of the paper filter cartridge and two sealing »
up orings.
- Used with Tomasetto integrated systems.
,,,,,, |

-32- Certools




@ PeMKOMNNeKTbI

<& Replacement kit

| KN217P

Pemkomnnekt KN-217-P
- PeMKOMNNEKT COCTOUT 13 6yMaXKHOro hunsTPaLMOHHOMO NaTpoHa u
[OBYX YNIOTHUTENbHbIX KOMeEL,.

- MpumeHsiembln B ycTaHOBKax Tomasetto MHTerpupoBaHHoe. 35

16
KN-217-P replacement kit
- Replacement kit consists of the paper filter cartridge and two sealing
up orings. 22
- Used with Tomasetto integrated systems.

,,,,,, ——

Pemkomnnekt KN-218
- PeMKoMNNEKT cOCTOUT 13 6yMaXKHOro ounsTPaLMOHHOIO NaTpoHa u
[OBYX YNIOTHUTENbHbIX KOMEL,. 25
- MNprmMeHsiembin B ycTaHoBkax OMB. 93

e
KN-218 replacement kit
- Replacement kit consists of the paper filter cartridge and two sealing
up orings. 2
- Used with OMB systems.

,,,,,, |

Pemkomnnekt KN-219-2
- PemkoMnneKT coctomT 13 cmnbTpaLmoHHOro natpoHa u3 42
CTEeKITOBOJIOKHA (C CETKOW) N YETBIPEX YMIOTHUTENbHBLIX KOMELL. 17
- MNprmeHsiembIn B ycTaHoBKkax BRC.
KN-219-2 replacement kit
- Replacement kit consists of the fiber glass filter cartridge (with wire 57
mesh) and four sealing up orings.
- Used with BRC systems.

7
Pemkomnnekt KN-219-3
- PeMKOMNMeKT coCToMT M3 NONMUIacTPoBOro (6e3 ceTku) 42
(bVNLTPaLMOHHOIO NaTPOHa M YETLIPEX YMNIOTHUTENbHbIX Komnew,. 17
- MNprmeHsiembIn B ycTaHoBKkax BRC.
KN-219-3 replacement kit
- Replacement kit consists of the polyester filter cartridge (without wire 57
mesh) and four sealing up orings.
- Used with BRC systems.

7
Pemkomnnekt KN-275-2
- PeMKoMnneKT cocTomT 13 mnbTpaLmoHHOro natpoHa u3 42
CTEeKJTIOBOJIOKHA (C CETKOWN) U TPEX YNIOTHUTENbHBLIX KOMELL. J8
- MpumeHsiembIn B ycTaHoBKax Valtek.
KN-275-2 replacement kit
- Replacement kit consists of the fiber glass filter cartridge (with wire 55
mesh) and three sealing up orings.
- Used with Valtek systems.

[
8

-33- Certools




@ PeMKOMNNeKTbI

<& Replacement kit

| KN2753 @

Pemkomnnekt KN-275-3
- PemkomnnekT coctonT 13 nonuactpoBoro (6e3 ceTku) 42
bVNLTPaLMOHHOrO NaTpoHa M TPEX YNMOTHUTENbHbIX Komnedw,. J8
- MpumeHsiembIn B ycTaHoBKax Valtek.
KN-275-3 replacement kit
- Replacement kit consists of the polyester filter cartridge (without 55
wire mesh) and three sealing up orings.
- Used with Valtek systems.
[ J
18
Pemkomnnekt KN-277
- PeMKoMNNEKT cOCTOUT 13 6yMaXKHOro ounsTPaLMOHHOIO NaTpoHa u
[OBYX YNIOTHUTENbHbIX KOMEL,. 34
- MpumeHsiembln B ycTaHoBKax Vito. 12
KN-277 replacement kit
- Replacement kit consists of the paper filter cartridge and two sealing o
up orings.
- Used with Vito systems.
,,,,,, |
Pemkomnnekt KN-278
- PemkomMnnekT coctonT 13 6ymaxHoro donnbTpaLMoHHOro NaTpoHa v
NSATU YNNOTHUTENBHBIX KOMNEL,, NMPUYEM OLHO KOMbLIO Y>Ke YCTaHOBMEHO <3—7,
BHYTPY MaTpoHa. PN i
- Mpumensiembin B ycTaHoBkax BRC. g
KN-278 replacement kit 2
- Replacement kit consists of the paper filter cartridge and five sealing
up orings (one already assembled inside cartridge). P
- Used with BRC systems. | T i fuﬁ 4
33,5
Pemkomnnekt KN-281-1
- PeMKOMMNMEKT COCTOMT U3 MOAINICTPOBOrO (C CETKOM) 42
bVNLTPaLMOHHOIO NaTpoHa U TPEX YNMOTHUTENbHbIX Komedw,. A7,
- MpumeHsiembln B ycTaHoBKax Lovato.
KN-281-1 replacement kit
- Replacement kit consists of the polyester (with wire mesh) filter 50
cartridge and three sealing up orings.
- Used with Lovato systems.
[ J
7
Pemkomnnekt KN-500-2
- PeMKoMnneKT cocTomT 13 mnbTpaLmoHHOro natpoHa u3
CTEeKJTIOBOJIOKHA (C CETKOW) U YMIOTHUTENBHOTO KoMbLia.
- MNprmeHsiembIn B ycTaHoBKax Vialle. 52
23,
KN-500-2 replacement kit
- Replacement kit consists of the fiber glass filter cartridge (with wire
mesh) and sealing up oring. s LTI
- Used with Vialle systems. [ ]

Certools




@ AKceccyapbl & Accessories
BA-0001 eBo4oHOK Anst TKyGKk Cu B6MM DL-0001 elazononeon I6Mm
eBarrel for pipe Cu @6mm eGas inlet @6mm
se .
BA-0002 eB0ou0oHOK Ans TKY6KkM Cu @8MM DL-0002 e[azononson P5mm
3 c eBarrel for pipe Cu @8mm eGas inlet @5mm
= - .rﬁl—'t

BA-0004 eBo4oHOK OMB ans Tky6ku Cu e[puxsar ans Tpy6km Cu @8 / M12x1
J8mm
eClamp for pipe Cu @8 / M12x1
eBarrel OMB for pipe Cu @8mm
BA-0005 eBoyoHok Lovato anst Tky6ku Cu e[lpuxeat ansa Tpyoku Cu @8 / M14x1

s e

@8MM

eBarrel Lovato for pipe Cu &8

eClamp for pipe Cu @8 / M14x1

BA-0006 eBoyoHok Mistral gns Tky6km Cu DO-0005 e[puxeat ansa Tpyoku Cu @6 / M10x1
d8mm o .
(‘Lw;} «Clamp for pipe Cu @6 / M10x1
. . «Barrel Mistral for pipe Cu @6 su
BL-0001 e[lepxaTent MOHTaXHbI 6e3 DO-0006 e[puxear ana Tpy6kn Cu @6 / M12x1
U30oNSLUM _
eClamp for pipe Cu @6 / M12x1
eAssembly plate
BL-0002 e[lepxaTerib MOHTaXHbIi elpuxeat Ans Tpy6ku Cu @6 / M12x1

&

M30MMPOBaHHbIN

eAssembly plate with insulating tape

an.15mm

eClamp for pipe Cu @6 / M12x1
length 15mm

BL-0003 e[lepxaTerib MOHTaXHbIi DO-0010 elpuxeat M6x1; IaTyHb

N30MNMPOBaHHbIN, Ans Tpyosl PCV

& X eClamp M6x1 brass
eAssembly plate with insulating tape — | P
for PVC pipe ;

BL-0006 o[lep>kaTenb KpenéxHsbli ans Tpyobi DO-0011 e[lpuxsat M6x1; CTtanb
PCV - @10 n @12 HepxaBetoLas
eAssembly plate for PVC pipe @10 - @ «Clamp M6x1 steel
and @12 '

-35-

Certools




@ AKceccyapbl & Accessories
DY-0002 eConno Matrix G1/8”; @ BHeww. 5 MM, KO-0011 eKorneHo MynsTuKnanaHa u
@ BHyTp. oT 1,0-2,7MMm; an. 22,5mMm 3anpaBsku, peaykums ans Tpyokm Cu
. f\\?% d8vm G1/4” | G1/4”
\ eMatrix nozzle G1/8"; @ ext.5mm, i A -
@ int.1,0 -2,7mm; length 22,5mm - " eMultivalve and filling elbow
for pipe Cu @8mm G1/4" / G1/4"
DY-0006 eCono Valtek G1/8”; @ BHelLw. 6 MM, KO-0012 eKoneHo mynstuknanasa M10x1 /
@ BHyTp. 1,0-3,0MMm M M10x1 ans Tpy6bkun Cu @6mm - knn.
e\altek nozzle G 1/8"; ¢ ext.6mm, -~ 7 eMultivalve elbow M10x1 / M10x1
¢ int.1,0-3,0mm g . for pipe Cu @6mm - set
DY-0009 eConno M6 KO-0014 eKoneHo knanaHa M10x1 / M10x1
a g eNozzle M6 eValve elbow M10x1 / M10x1
DY-0018 «Conno ans Rail @5mm / G1/8” KO-0015 eKoneHo Hunnens M12x1 / M14x1

eNozzle for Rail @5mm / G1/8"

eNipple elbow M12x1 / M14x1

DY-0020 «Conno ans Rail @6mm M8x1 KO-0026 eKoneHo Hunnenb ans GannoHa
) M14x1 / G1/4” 90°
- - _ eNozzle for Rail @6 M8x1
e oad eNipple elbow for tank
l ' M14x1 / G1/4" 90°
DY-0021 eConno ans Rail @5mm M8x1 KO-0027 eKoneHo Hunnens M12x1/ G1/4”
- i i eNozzle for Rail @5mm M8x1 eNipple elbow M12x1 / G1/4"
DY-0022 «Conno M8x1; fNatyHb KR-0003 elLITyLiep nop kN4 MMBYCOBBLIN 4MM
=4 @ BHel. 7MM, @ BHYTp. oT 1,0 -
// ; ‘. eNozzle M8x1 brass , { & 3,5MMm
5 A = eConnector pipe for imbus spanner
@ @ 4mm @ ext. 7mm J int. 1,0 - 3,5mm
KO-0005 eKorneHo 90° & BHeww. 16 / @16Mm elliTyuep M6 @ BHeLw. 6MM, As1. 60MM

[N BoAbl U rasa

eElbow 90° @ ext. 16 / @16mm
for water and gas

KR-0004

eConnector pipe M6 & ext. 6mm
length 60mm

KO-0008

eKoneHo MynbTMKNanaHa v 3anpaBku
anst 1py6kmn Cu @6mm M10x1/M10x1

elbow
10x1/M10x1

eMultivalve and fillin
for pipe Cu @6mm

KR-0005

-

elllTyuep M6 @ BHeww. 5mm, an.
28mm

eConnector pipe M6, & ext. 5mm,
length 28 mm

-36-

Certools




@ AKceccyapbl & Accessories

KR-0006 elliTyuep M6, @ BHewwl. 6MM, an. NA-0013 e[anka KoHTpsAwWwas M16x1

39mm
eScrew cap M16x1
35 eConnector pipe M6, @ ext. 6mm,
Wy length 39 mm

KR-0007 elliTyuep peitkn M12x1 @ BHelLL. NY-0001 eHunnens M10x1/M10x1; an.36mMm

12 -
M e eNipple M10x1/M10x1; length 36mm
eConnector pipe M12x1 & ext. 12 i
4 mm

KR-0009

ellitynep M6, @5mm, an. 60mMm

eConnector pipe M6, @5mm,
length 60 mm

eHunnenb M12x1/M12x1; an.37mm
eNipple M12x1/M12x1; length 37mm

KR-0011 elliTyLiep Hanpasnsaowmit M6, @ 5Mm NY-0004 eHunnens knanaHa M10x1
» eDirectional nozzle M6, @ 6mm eNipple valve M10x1
NA-0002 elalika 3anMBOYHOMO OTBEPCTUS ANS eHunnens M12x1/M10x1

Tpy6kn Cu d8mm; G1/4”

eFilling screw cap for pipe Cu
®8mrr?G1/4" plorpip

eNipple M12x1/M10x1

NA-0009 e[anka knananHa W21,8x14/1”; eHunnenb G1/4"
DIN 8542
eNipple G1/4"
& . e\alve screw cap W21,8x14/1"
“ DIN8542
NA-0010 elaiika KoHTpsiwas M10x1 - 14 NY-0023 eHunnens M6x1 (anomMuHwuii)
eScrew cap M10x1 - 14 = ye eNipple M6x1 (aluminum)
Sz (R
e e
NA-0011 e[aiika koHTpAaLan M12x1 PR-0001 e[lepexon Tvn ACME Tomasetto
- M10, kopoTkuit
= eScrew cap M12x1 %
.‘ 4 eFiller pipe connector ACME
___4 Qé,_, thread type Tomasetto M10 short
NA-0012 e[aiika KoHTpsLaa M14x1 e[lepexon Tvn Bayonet Tomasetto

O

eScrew cap M14x1

PR-0003

%,

M10, ANVHHbBIN

eFiller pipe connector Bayonet type
Tomasetto M10 long

-37-

Certools




@ AKceccyapbl

&5 Accessories

PR-0004 _

e[lepexon Tomasetto W 21,8
ONVHHBIN

eFiller pipe connector Bayonet type
W 21 ,8plong

PT-0002

eKoHHekTOop T“N Euro W21,8

¢ PG Euro-connector W21,8

e[lepexop Tun Italian Dish W 21,8

eFiller pipe connector Italian Dish
type W 21,8

eKoHHekTOp TMN Euro G1/4"

o PG Euro-connector G1/4"

e[lepexon Tmn Bayonet lonn. M10

eFiller pipe connector Dutch Bayonet
type Tomasetto M10 short

eHyNNenb pegyKUNOHHbIN ANg
Tpy6kn Cu B@6/d8mm-knn., M10x1 /
G1/4”

eReducing nipple M10x1 / G1/4"
for pipe Cu @6/@8mm set

e[lepexoa Tun ACME Tomasetto
M10, ANVHHBIN

eFiller pipe connector ACME Thread
type Tomasetto M10 long

eHuNNenb peayKUMOHHbIN YrioBoOw
ans Tpy6bkn Cu @6/d8mm; M10

eAngular reducing nipple M10
for r?lpe Cu Qﬁlﬁ%mm

e[lepexoan ¢ ACME Ha Dish
lep./Mon.

eFiller pipe connector from ACME
thread type to Italian Dish type

eHuNNenb peayKUMOHHbIN YrIOBON
anst Ipy6kun Cu B@6/@8mm-knn., M10

eAngular reducin% nipple M10
for pipe Cu @6/@8mm, set

e[lepexoq Tun ACME M16x1,5
eFiller pipe connector ACME type
M16x1 é)

RE-0007

eHuNNenb peayKUNOHHbIN
M10x1/M12x1

eReducing nipple M10x1/M12x1

e[lepexon Tnn Bayonet M16x1,5

oFiller pipe connector Bayonet type
M16x1,5 Y Y

RE-0010

eHuNNenb penyKUNOHHbIN
M12x1/M10x1

eReducing nipple M12x1/M10x1

N
R

e[lepexon Tmn Dish M16x1,5

eFiller pipe connector Dish type
M16x1,5

RE-0013

eHuNNenb peayKUMOHHbLIN ANs Penkn
M12x1 / G1/8"

eReducing nipple M12x1 / G1/8"

PT-0001

eKoHHekTOp TMN Euro LPG M10
oL PG Euro-connector M10

ePerynstop nepexoga

eFlow regulator

Certools




@ AKceccyapbl

&5 Accessories

SP-0001

o[py>xnHa Ha BOOOBOL,

e\Water hose spring

TR-0013a0

eTporiHuk Y 316/016/316Mmm;
AntomMuHmin

eY-branch @16/@16/@16mm; Al.

o[1py>xnHa Ha razonpoBop,

eGas hose spring

eTpontHuk Y @14/D14/314mm;
AntoMuUHUI

eY-branch @14/&14/@14mm; Al.

0|_|py)KVIHa Ha CekBeHUnn

eSequential spring

eTponHuk Y @11/311/311mm;
AnoMUHUI

eY-branch @11/311/@11mm:; Al.

o TpoiiHVK B16/316/B16MMm; TR-0021 e TponHuk 3x@6mm; NaTyHb
AntoMuHUn
oT-pipe 3x@6mm); brass
T-pipe @16/@16/@16mm; Al. ?
e TponHuk @19/316/319mm; TR-0022 e TponHuk 3x@5mm; NaTyHb
AntoMnHun )
eT-pipe 3x@5mm; brass
e T-pipe @19/316/219mm; Al. *
o TpoWiHMK Ansa Tpy6ku Cu 3xB8MM, TR-0025 e TpOWiHMK 3Xx@6mm; JlaTyHb , K.
NUTLE NaTyHHoe, KNIl =y .
- eT-pipe 3x@6mm; brass, set
o T-pipe for pipe Cu 3x@8mm .
brazen cast set aa QE
TR-0010 eTponHuk @19/@16/@19mm; LinHk TR-0026 e TponHuk 3x@8mm; JaTyHb , knn.
AntomMnHun )
eT-pipe 3x@8mm; brass, set
«T-pipe ©19/@16/@19mm; ZnAl. -, ‘,# o
TR-0011 o TpoiiHVK @16/D16/@16MMm; JlaTyHb UC-0001 o[lepkaTenb OnA PENKU CEKBEHLUN
oT-pipe B16/316/816mm; brass / e|njector rail holder long
TR-0012 e TponHuk @19/316/319mm; NaTyHb UC-0002 e[lepxaTenb Ans 3annBOYHOMO

oT-pipe B19/16/819mm; brass

oTBepCTUSt

eFuel filler holder

Certools




@ AKceccyapbl & Accessories
UcC-0004 e[lepxatens peaykropa 180Mm ZL-0008 eKoHHekTop @19/316MM
/ eReducer holder 180mm ‘ﬂwmw non—— ePipe connection @19/316mm
T
UC-0005 e[lepaTerb XeCTAHOM ZL-0009 eKoHHekTop @19/319Mm
w » eSheet holder *Pipe connection @19/19mm
UC-0006 e[lepxaTenb Ans PNk CeKBEHLIUM - ZL-0013 eKoHHekTop @19/@19MMm
KOPOTKMI . .
ePipe connection F19/19mm
/ eInjector rail holder short ﬁ
UC-0007 e[lepxatenb ans penku 150mMm, @6 ZL-0022 eKoHHekTop M10x1/M10x1 anst
. . , wnaHra J6
elnjector rail holder, 150mm, &6
® & | «Pipe connection M10x1/M10x1
; J for flexible conduit @6
ZA-0001 eMopBec Ans TOpoMAANLHOTO ZL-0023 eKOHHeKTOp LinaHra @6 BHyTP.
6annoHa . . . .
b __ @ ePipe connection for flexible conduit
eSupport for toroidal tank J @ . @6 internal
e
ZL-0001 eKoHHekTop ans Tpy6kn Cu Z1L-0024 eKOHHEKTOp WwnaHra @8 BHyTp.
@6/d6MM, Knn. B S b tion for flexibl duit
s =i g | ePipe connection for flexible condui
a@ — O a «Pipe connection for pipe Cu a O - | 98internal
B O @6/@6mm, set ;"‘M o)
ZL-0002 eKoHHekTop Ans Tpy6kn Cu J6/28 ZL-0025 | eKoHHekTOp yrnoBsoi aAng wnaxra @6
MM, KM, 5, N BHYTP.
—— )/ R,
‘ 0 a ePipe connection for pipe Cu < __ oAn%ular pipe connection for
@ @6/28mm, set N ﬂ & | flexible hose @6 internal
h, S
ZL-0003 eKoHHekTop N5 Tpy6kn Cu @8/@ _ ZL-0026 | «KoHHekTOp yrroBoi Ans WwnaHra &8
8MMm, K. ."@% BHYTP.
J
a O - © a ePipe connection for pipe Cu = - -An%ular pipe connection for
@8/@8mm, set P N £ @ | flexible hose @8 internal
‘e ~; |
ZL-0006 eKoHHekTop B16/D16MM oKoHHekTop W21,8x1/14” - 3/4”-
16UNF
e p——r ePipe connection @16/316mm
i ePipe connection W21,8x1/14"- 3/4" -
- R 16 UNF

Certools




@ AKceccyapbl

&5 Accessories

ZL-0035

eKoHHekTOp knanaxa 3anpasku M10

ePipe connector to filling valve M10

ZL-0046

CXER
iﬁ

eKomnnekT koHHekTopa Tpybbl PCV
@6/M10x1

ePipe connection @6/M10x1, set

ZL-0038

eKoHHekTOp W21,8x1/14”- 3/4” -
16UNF

16 UNF left

ePipe connection W21,8x1/14"- 3/4" -

ZL-0047

eKomnnekT koHHekTopa Tpybbl PCV
@8/M12x1

ePipe connection @8/M12x1, set

ZL-0039 eKOMMMEeKT KOHHeKTopa yrnoBoro ZL-0048 eKOMMMEKT KOHHeKTopa yrmoBoro
y . . Tpy6el PCV @6/M10x1-90 y 9 Tpy6el PCV @8/M14x1-90
. S ) P 4
e, 8 Pipe connection @6/M10x1-90 \»‘rp & ePipe connection @8/M14x1-90, set
s < : nk gt -
Pt N y &
oKOMMMIEKT KOHHEKTOPA YITOBOro ZL-0049 eKoMMeKT KoHHeKTopa Tpyobl PCV

ZL-0040

&,

=

o°C

(]

Tpy6bl PCV @8/M12x1-90
ePipe connection @8/M12x1-90

@8/M14x1
ePipe connection @8/M14x1, set

ZL-0041 eKOMMMIEKT KOHHEKTOPA YIToBOro ZL-0051 eKoHHekTop W21,8x1/14”/(an.17) x
Tpy6bl PCV @6-135 e @ 3/4"-16UNF
eAngular pipe connection @6-135, \m - \-/\I;’éqescc%r)?‘?cjzilon h 17)
- ‘ ,8x "/(len X
set i 34 IGUNF D
eKOMMMeKT KOHHEeKTopa YrroBoro ZL-0052 eKoHHekTop W21,8L x W21,8

Tpy6bl PCV @38-135

eAngular pipe connection J8-135,
set

ePipe connection W21,8L x W21,8

ZL-0043 eKOMMMEKT KOHHEKTOPa PEMOHT. ZW-10-00-P eOBMEHHbIl KOMMNEKT NS KnanaHa
Tpy6bl PCV B6/06 3anpaBku (kopobKka nnacTmac. ¢ BHeLl.
pe3bbon M10 + pe3nHOBbIN COeaUHUTENb)
W o) —§E— oy 8 | +Pipe connection @6/06, set N ,
- , - eSet to filling valve (plastic cap M10 male
. - thread + rubber fixing)
ZL-0044 oKOMIMMEKT KOHHEKTOPA PEMOHT. ZW-21-01-M e[po6ka ansa knanaHa sanpasku TUM
Tpy6bl PCV @8/08 BAYONET W21,8 - natyHHas
'nm—ﬁ—m = | «Pipe connection @8/@8, set eScrew cap W21.8 to BAYONET
m i filling valve - brass made
ZL-0045 eKOMMMEKT KOHHEKTOPA PEMOHT. ZW-21-01-A e[Tpo6ka Ons KnanaHa 3anpasky TIn
Tpybbl PCV @6/08 BAYONET W21,8 - antoMmuHneBas
i‘iﬂ lﬁ—f\t ePipe connection J6/08, set eScrew cap W21.8 to BAYONET
* . filling valve - aluminum made

Certools




PCA

PoLSKIE CENTRUM
AKREDYTAC

<LHO

CERTYFIKACJA
SYSTEMOW
ZARZADZANIA
A

Owumwr Dealer:

Certools’

CERTOOLS sp.j.
ul. Wspoélna 23 B
95-200 Pabianice
P OLANTD

Tel.: +48 42 227 07 57

Fax: +48 42 227 56 55
certools@certools.pl
’ www.ctools.p




